ASIA
AMERICAS EURORE

: Units 2111-2116, Level 21
5810 Van Allen Way Astec House, Watgrfront Business Park Towerl, Metroplaza
Carlsbad, CA 92008 Atz Al BUElizy 223, Hing Fong Road
Telephone: 760-930-4600 Ul ks, D) 1L UK Kwai Fong, New Territories
g Telephone: +44(0)1384-842211 Ho‘n e
Facsimile: +44(0)1384-843355 g fong

Telephone: 852-2437-9662
Facsimile: 852-2402-4426

Installation Notes

LPX80 * Cover Enclosure Kit

LPX80 will fit all the LPX8X power supplies

Facsimile: 760-930-0698

(2X) M3 INSERTS

INPUT

WIRING - = 1.181 [30.0] - =— 0984 [25.0]
ACCESS

[eYe) 20

0

0
)
0,
0,
0
20
C)
&)
)
)
)
&)
Q)

o
%
20!

0
o,
0
0,
0,
0,
0
0,

1134 [28.8]

)
&)
&)
®,
&)
®,
o,
®,
o,
©

=)
&)
0,

S0,
09B90
038,
526!
o
0
00!
025!
696
030¢
550
R
0300
229
!
090

030

0,
&)
0)
)

=)
S,
©
Q

o

262636
3
!

0
60020,

OUTPUT TERMINALS 2.236 [56.8 ]

®
S,
S
<)

o
°©
°©
S
0
e
(9
&)
3,
)

&)
=3
0,
0,
2
0,
S,
0!
0,
&3
0,

3.858 [98.0]

&
0305092020
S
&
2020,

5
o
®
2820808
OA0,050/
0, 1)
026202630

&)
&
o,
@
o
)
s
o,
0,
)
0,
o,
o,
o,

02080
520!
690
256
25
550
095!
&

&
6900
69008
&

&
500
&

000"

S

=

&

&

o

&

e

O,
&)
&
o,
0
O,
o
',
)
0,
)
0,
()
0,
o,
&
O,
(o)
&
O,
&
o,
&

208
S,
)
&)
O;
&
03
)
.
&)
()
()
O,
0,
o,
&
O,
&
()
&)
()
0,
(X
()
o,
O,
32
0,
)
S,
@,
2
®;
0,
o,
®;
oS
(O

\OUT

PUT
WIRING ACCESS

o
S
3
s
0
3
0
o
&
o
5
3
%

=
o
oo
S
o
o
0
S
0
o
o

O,
&)
@,
C)
0;
S,
o
O
o;
()
(o)
O,
()
(o)
O,
3
(0
(o)
0,
()
(o)
(o)
0,
0

s
0
5
o
9
&
1S
&
o
&
1S
f
9
&
1S
af
o
&
1S
&
19
&
1S
&
19
&
S
a
o
&
9
&
19
o
1S
&
19
&
19
&
1S
o
1S
o
90
19
1S
1S
o
9
o

o 00, oo0ee —xA 1.748 [44.4
| ™~INPUT TERMINALS /@coogemwage°°°°°e“’°’m°e°°o° 5o i [444]
C0000000000000000060000 (2X)0.591 [15.0]

/lNSULATOR

f
(2X) M3 INSERTS Lﬁ (2X)4.331 [110.0] —= L (2X)0.787 [20.0]

(2X) 0.364 [9.3] —=|
(2X) 0.787 [200] —=|

(2X) @4mm MTG HOLES Tﬁ (293543 [000] —= | = (2X) 0738 [183]
,—(4X) M3 STANDOFF

| \% FOR MTG POWER SUPPLY
®°a A®

(2X) 2.55[65]
(2X)3.150 [80.0] (2X)2.756 [70.0]

o
@gA A 1
e ¢ /0@@ (2X) 0.657[16.7 ] (2X) 0.551 [ 14.0]

f f
(2X) 0.354 [9.0] M3 INSERTS/
(4X) MARKED "A" SEE KEYWAY DETAILS

(2X)4.803 [122.0] ——=|

0.25[6.4]

20.35 [28.8] @0.14 [23.6]

MATERIALS NOTES
1.

Base All dimensions are in inches (mm)
Cover 2. Overall dimensions:
M3 x 6mm pan head screws with spring washer 5.9(150)x 3.9 (98.0)x 1.75 (44.4)
M3 x 6mm countersunk sdrews 3. Base plate has three sets of customer mountings:
M4 nut a. Bottom mounting (4x) M3 inserts. Max. screw penetration 0.0787 (2mm)
M4 star washer b. Bottom mounting (2x) 4mm clear holes plus 2 keyways (see keyway detail)
M4 spring washer c. Side mountings (4x) M3 inserts. Max. screw penetration 0.236 (6mm)
Plastic insulator sheet 4. Ensure insulator is correctly fitted in base under PCB to maintain safety creepage and
clearances.
5. Ensure base is firmly connected to supply earth via the earth stud marked ® .
6. When using this enclosure, ensure that relevant safety standards (e.g., EN60950) are
complied with, in respect to creepage and clearance distances, and distances through
insulation.

N N N

Technical Support: (888) 41-ASTEC or (407) 241-2752 ASTEC
Americas: (760) 930-4600 Europe (UK) 44 (1384) 842-211 Asia (HK) 852-2437-9662 rev8.25.04



